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Instructions :
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i) There are in all nine questions in
this question paper.

[ Tuin over

324(Yy)

1)
11}

vi)

All questiet™S are compulsory.
bECImning  of each
quesuon. 1€ number of parts
auempted are clearly
menuonce.

Marks allotted to questions are
indicated against them.

Start solviNg from the first
question and proceed to solve till
the last one.

Do not waste your time over a
question you cannot solve.

I trye
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1) rxp

i) gxp
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laﬁﬂ'ﬁ?

sin

.. Y CO“.'-

1) lanx+COt"+C

i) tanx-cotX*C
i)  secx+cosec X ¢ 1
iv)  secx-cosecX*C:

d? dy dy _, ‘=t
y l T =2
g\\
wife & ¥

i) 3 \Q i) 2

iii) 1@$\ iv)” 0. 1
afk wfe A14+.4+ 3k 3R

At sk R e E A w0

g7 8
)4 i) 3
iii) 2 iv) 1. 1

1. Attempt all the parts :

a)

B31350

Suppose that the
fi R— Ris defined by f(x)=x*
Then choose the correct answer -

i)  fis one-one onto

i)  fis many-one onto

1)) fis one-one but not onto

iv)  fis neither one-one nor onto.

function

1

324(YZ)
£}

d)

B31350

Download all NOTES and PAPERS at StudentSuvidha.com

4

If orders of matries A and “_}Hﬂ!‘
pxdq and g * rrespec tively, then
order of AB1s

i) pxr

ii) rxp

i) gxp
iv)]  none of these. 1
The valuc of integral

1
sin? xcos? x
i) tanx+cotx+c
ii) tanx —cotx +c

i) secx+cosecx+c

dx is

iv)] secx-cosecx+c. 1
The ordersmof .the differcntial
equation

2 2
wgﬁ+{%] —-y% =2 is
T i) 2
i) 1 iv) 0. 1

. A A
If vector Ai+4 j+ 3k and

A A A
41+2j-4k are perpendicular to
each other, then the valye of 2 is
i) 2 v) 1, 1
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1 _ . =1 1
A I it | :

A f1 R R ()= sinx IR
g: R R §i[i’fls-"‘{2 €,
(fog)x 3R (gof)x = HH AT
HINT 3R femrgl 6 fog#goifs 1
A 2P[A}=P[BJ=@§53$H

RN
P{AfB]:%%@{AUB]?ﬂWW
SN

w1 1
dshl %@ﬁ y=asin(x+b), g

a, b ¥ wwx ¥, B Frefig w0 et

TR FHIFTT 1 HId HifoTa | 1
X
het HXJ=[IxI’x{O%Fﬁt{x=0
_ -1, x20
T QT FT wReor Fieqg | 1

mpt all the parts :

Find the valye of

tan™' ] 4 ¢og-1 (—-l) +sin7lf-1 1

ff. 2 2)
f: R Rwhere f(x)=sinx and

?5 R - Rwhere g(x)= x?, then
lll_l'ld (fog)x and (go f)x and
Show that fog#go f. 1

3.

i

324(YZ) 5
) ir 2p(a)= PP 13 and
P{A;’B]:%’ then find the value of
PAVB). , :
d) Find the differential equation of
the family of curves Yy=asin(x+b),
where a and b are constants. 1
¢) Check the continuity for the
function
X x<0
fix)=4]x| at x= 0, 1
. -1, x20
Fefiefiae wit @vel &t ger Fifee
%) I y=tf.u1jr X ,
4 FHl+J1-x2
dy .
e AT 3":":?IQE 2
. A
@ W i-2]43k o 3700, R 4
g R o
T I T Hifvra | 9
M Fretefea sei
x+3y<5
xX+y<3 :
x20, y20 F =iy
Z=5x+3y -H yway og T
T | 2
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-*'dTqu 7, R]Fﬁ"n (2, 3,4)

') 1frm§n&afq
@ amanqqnﬁ ! mwgag —
(1—21]3ﬁ'([125] )
Tl Y 3 e ¢

Attempt all the parts

X
a I y=tan™!
e

find 3 QQQ 2
b) Find the ang%@etween the
vectors i ¢ +3k and

A
3% - 2’}@3\2 | 2
¢}  Under the following restrictions
x+3y<5
x+y<3
x20,yz0

find the maximum ' value of
Z=5x+3y. 2

d) Show that the line passing
through the points (4, 7, 8 ) and
(2, 3,4) is parallel to the line
passmg through the points
(-1,-2,1)and (1, 2, 5). 2

=i wit el s =ifv
F) PR 1 X 11 TF F D e
, AR 3 I € | A T d

H’rﬂﬁ'ﬁnmﬁﬁq%ﬁm
- fomm & -_ 2

, then

B31350
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) - _,...--"_"‘E-’lz—-l_{‘_}_'______ i
7g) T dx 3
= acls X+ hsin” x

—.—;;f;,r-' _maf}"‘"t*fgl 2

7 a%a=3?fj+5k-3ﬁ;
4=?+2j*£ﬁﬁ?ﬂﬁaﬁyaﬂ&;m
st o, PR R e Y g e
Eﬁjﬁmﬁmmﬁl ,

T W f)=x-1 & A s

5 )8 9 % TomE g w5

raﬁqa HifU | 2
Attempt all the parts :

a)  From integers 1 to 11 two integers
are selected ‘at random. If their

Sum is even, then find th
robab c
E{id ility that both Integers are

b}  Find the value of the intcgraf
J' sin2x

—dx
a cos? x+ bsin? x Where g

and b are constants.

4

— AA A :
oA A A
b=1i+2j-k, then find the area of

that triangle whose twg sjdes are
- .

represented by a and 3 2

31350
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G

o Viean VHIL‘I(: =, T = T ':F.qn[
d)  Verify  Lagrange's thtk function ) e ]
Theorem  for . tx =u)dly =[x+ : i
, . 51. X =i Fy)dx =0 i eF
fx)=x* -1 in the interval | 3, 2} e
2 Ziad |
s < s o % 7EUZ] ] B 5. Attempt any five parts of the followine .
ﬁ:—':‘-i‘!?ﬁﬁﬁ AW fe o™ @ a)  Prove that '8
Al x+a b c
) m%qm a x+Db c =x2(x+a+b+c].
x+a b . a b x+e¢
a X+b c :\@x+a+b+c]. 5
a b ox+chN b)  If cos~! X -1y
(§, 5 § "5 tcos E=B,tht=:n
@) T cos™! §+\Qcos‘l—g-= o fag pr();’e that
Qx= -
e @ - ¥ ~12xycosB+4y? = 36sing.
9x? ~12xyc0s 0+ 4y? = 365in20 . - n S
s ¢)  Prove that f=Zsinx - g2
e 2, =7 s
b Wﬁmmj_ﬂﬂg_dx=ﬁ. d)  Prov 0 1+ cos®x 4
o l+cos”x 4 ¢ ﬂ;at the curve x2+y2~—1
: . 5 and Y =4(x_ -
) fog =ifw & o +y?=1 @R other. be=1) touch  each
2 2 * {
y v=:h[x-l] Uch qa & W e) Find the shortest distance b S
£ A ctween
.5 A A > the lines r = (4 )4 a (284, 2
8 @R = (14 )4 A(20- [+ k) 37 and (2i-j+k)
P Ry u(3to5 e o) P o2k
=(2i4j-k)+p(3i-5;+2k) = PRt k) e 37 gt 40
" — ~Sj+2k
g ) s . J . 5
%l 3y {ﬁiﬂﬁ I | 5 { Eife ]dthi dlfferential ﬂqu::tion
‘ _ yidy {x"‘y]dx-_-.o_ 5
B31350 B31350
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“ﬁa‘ﬁﬁﬁ?m'{ﬁﬁmﬁﬁ

Ny
L

Wﬁﬁaﬁﬁq

P e s 3 s
X-y20

=X+2y>2

xez3, ¥Y=4,y20

£ =2x+3y-1 @ 59§

ife | %S\\ 5

WIT X2 24y we rar
x=4y=2 ¥ M 9 =1 dwer 7
SHifeTa | 5
T S A, 70% T3t ¥ g1 Srorey
€| GE = B, 60% WA § way
STl €1 U "o | 261 % g @
FEHd B Hi wigwd I w1 5

e I

A a, b, ¢ @ WY TRET 3T w@R
t & Z+g+?=0,ﬁfﬂ¥ﬁﬁq%

T T e
axb=bxc=c¢xa. S

Attempt any fIVe parts o 1 follo

a)
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Solve the followip, Wing.,
programming pr
method, under th
constraints :
x-y=20
-x+2y=22
x23,Yy<49, ¥y>0

Find the minimum value of

g linear

blem by ..
8raph
e f{)llowing P n

Z=2x+3y-1, 5

Find the differential coefficient of
-1 2x . :

tan [1 - x:") With  respect to

cos™! 1= x°
1+x2 ) ”

Find the area enclosed between

the parab(}]a .'{'2 = 4y and St['a]ght
line x =4y -2, 5

One mﬂi A speaks truth in 70%
events. AN other man B speaks
truth in 60% eyents. F‘in{‘f the
probabi_lll}’ that In an event both
agree with one another 5
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I
are such thay E+b+c =0, then
- N
Provctlml_axg:bxc:cxa. 5

)  Prove that

tan™ (—m——zf—-__. Vi-x)_2_Lleosx,
Vit x + 1« 4 2

i
75
1
3
7

a a+b a+b+e I
2a 3a+2b dr 4 3b +2¢
3a 6a+3b 10a+f}b+’%c

1) F‘Eaﬁﬁq%ﬁ 2?—-}+E’
“ i ) A A A
I—'SJ-S.[C, 3iﬁ,€+j_4k Uﬁ*‘:
EEI0T P WG § 1 gt
9 3 oy T Fife -

2

B31350

8.

324(YZ)

7.

Attempt any one part of the {0 following :

a)
equatloﬂs .
x+Yy +z2=6
y+3z= 11
¥ - Qy' +zZ=0
by matrix method.
b) i) Prove that

a a+b a+b+c
na 3a+2b 4a+3b+2c
3q 6a+3b 10a+6b+3cC

AAA
ii) Prove that 2i- j+k,
A A M A A M
i-3j-5k, 31i-4j-4k arc
sides of a right angled
triangle. Find rest two angles
of triangle also.

golve the  following system of

5

FTeEd 9 o fadl Uy gug Eal T HITAT

I I 2 2 2 . 2
b a’cos”x+b*sin” x

SHITSAT |
) j)

Feid - fx)
3T o 3 1wy |
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=sinx+cosx

4
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i) . 4 7 XS P
ﬁégﬁ”%ﬁa;ﬁﬁ.ﬁwaﬁ
3 e ¢ 41 @@ 9 00 AT

8 ST 7y T | 4
| :}ttemgt ?ly one part o{&he following :
ind the yq
n UCS(\\Q _

x> - 8
2 N
o a cns?'\@?w b2 5in2 x
b ' i
) ) c%} the maximum value
the function

J(x)=8inx + cos x . 4

i)  There are 4 red and 5 black
balls in a bag A. In another
bag B there are 6 red and
3 black balls. One red bal] is
taken from bag A, and
transferred to bag B. After this
one ball is taken from bag B
find the probability of that tc;

be red. 4
0. et 3 % ottt @ve e o
%) 21§ T s
1."2x2+x—3
8
B31350

A
dY _ 3ycotx = siny i gel BT,

dx .
e X735 N y=2 ¥, = fafre
e TR T

tempt any 7€ Part of the following -
> :}“’3 FE‘:i’nd the value of oWIng

2x+1
J

- 8

b) Solve the differential equation

G)

8

d | .
a_i_ ~3YCotx =sin2x, when at

—

i

X=7, Yy=2, find the particular

solutior:. 8
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